Geometry Worksheet
Equations of medians, altitudes Date

& perpendicular bisectors
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The vertices of AABC are A(2, 18), B(-2, -4), and C(6, 12)
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1. Find the slope of AB.
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2. Find the slope of BC.
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3. Find the slope of AC.
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4. Write the equation of the
line containing AB.
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5. Write the equation of the
line contaming BC
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7. Find the equation of the line | 8. Write the equation of the
containing the altitude from line containing the altitude
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10. Find the coordinates of the
midpoint of AB
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i1. Find thé coordinates of the
midpoint of BC
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12. Find the coordinates of the
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13. Find the equation of the line | 14. Find the equation of the line
containing the median from
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15. Find the equation of the line
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16. Find the equation of the line
containing the perpendicular
bisector of AB ( O : “7)
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17. Find the equation of the line
containing the perpendicular
bisector of BC ( 7 ) bi)
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18. Find the equation of the line
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Given: R(0, 10), S(-5, 0), and T(5,

5). Write the equation of:

19. the median from R %
N‘i)ovmf‘ F‘:-‘- (0,9—)
& ( Ul /(;»)

K=o

20. the median from S
)
S Es80)
Medign S”fv‘oe. § -_ﬂ :f:/
e

4=7s(x-3%),)

/9= Zstxes)] |

21. thcmedianﬁme(’;‘,y
A Yo
ms RS ( % ,5)

=5

G—L.__Jw

22. the altitude from T
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25. the perpendicular bisector
of segment RS
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26. the perpendicular bisector
of segment ST
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27. the perpendicular bisector
of segment RT
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